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SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.
1.     What is meant by Independent Branch?

2. What are departmental accounts?

3. What is installment purchase system?

4. What is sacrificing ratio?

5. What is meant by dissolution of partnership?

6. Provide depreciation @10% on furniture of `50,000 when Mumbai branch account is maintained in H.O. books. – Pass journal entry in the books of both the H.O and Branch.

7. Goods amounting to `25,000 transferred from Chennai branch to Madurai branch under instruction from H.O. - Show the entry in the books of H.O.

8. State the basis for the allocation of the following expenses: Lighting, Depreciation, Commission and Bad Debts.

9. Rajesh of Kolkata has a branch at Chennai. Goods are sent by head office at invoice price which is at the profit of 20% on cost price. There is an opening and closing balance of stock at invoice price for Rs.11,000 and `13,000 respectively. Calculate the amount of stock reserve to be shown in the books of HO.

10. A television set a cash price of which is `38,000 is sold on hire purchase system for ` 40,000 payable in 4 quarterly installments of `10,000 each. The first installment is made at the end of 1st Quarter. Show how the interest is calculated.

11. Calculate the amount of goodwill if 3 years purchase of the last 4 years’ average profits is agreed as the goodwill value. The profits and losses for the last four years are: I year `5,000; II year  `8,000; III year `3,000(loss); IV year `6,000.

12. Krishna, Raja and Sony share profits as ½, 1/3 and 1/6 respectively. Sony retires. Calculate the gaining ratio of Krishna and Raja.                                          
                                                 SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions
13. Briefly explain the salient features of dependent branches.

14. What are the advantages of departmental accounting?

15. A Head Office sends goods to its branch at 20% less than the list price. Goods are sold to customers at cost plus 100%. From the following particulars ascertain the profit made at the head office and the branch on wholesale basis.

	
	              H.O.

                `
	         Branch

                `

	Purchases
	2,00,000
	           ----

	Goods Sent to Branch(invoice price)
	   80,000
	           ----

	Sales
	1,70,000
	80,000


16. The following information is given by Balan, a merchant, for the year ended 31-12-2006.

	
	       `
	
	           `

	Sales: Dept I

          Dept II
	70,000

30,000
	Purchases:  Dept. I

Dept. II
	43,000

25,000

	Stock (1-1-2006) 

      Dept.  I

      Dept. II
	  3,400

  1,100
	Salary
	  5,400

	Debtors
	23,000
	Commission 
	  2,200

	Office furniture
	  1,080
	Advertisement
	  5,800

	Rent
	  1,800
	Bank Charges
	     120

	Insurance
	  2,400
	Stationery
	  2,700

	
	
	Wages
	10,000



Provide depreciation at 10% on furniture. Bad debts `300. Create 10% provision for discount on debtors. Stock position on 31-12-2006: Dept. I- `4,000 and Dept. II- `1,680. From the above information, prepare the departmental trading and profit and loss account. Expenses are allocated on the basis of sales.

17. From the following details of a businessman who sells goods of small value at cost plus 50% prepare Hire Purchase Trading Account.








                                                                                                                                   `
	1-1-2000
	Stock out with customers at H.P price

Stock at shop at cost price

Installments due but not received
	  9,000

18,000

  5,000

	31-12-2000
	Goods worth Rs.500 repossessed (Inst. Not due Rs.2,000)

Cash received from customers

Purchases made during the year

Stock at cost at shop (excluding the goods repossessed)

Installments due but not received

Stock out at Hire-Purchase price with the customers
	60,000

60,000

20,000

  9,000

30,000


18. Following is the Balance Sheet of X, Y and Z as at 31-12-2004

	Liabilities
	   `
	Assets
	     `

	Capital A/cs

   X

   Y

   Z
	20,000

10,000

10,000
	Cash in hand
	10,000

	Reserve
	  6,400
	Cash at bank
	12,000

	Creditors
	  4,000
	Debtors
	12,000

	
	
	Stock
	  8,000

	
	
	Plant & Machinery
	12,000

	
	
	Goodwill
	  8,000

	Total
	50,400
	Total
	50,400



Z died on 14-3-2005. Under the terms of partnership deed the execution of a deceased partner were entitled to:
(a) amount standing to the credit of partner’s capital A/c. 
(b) Interest on capital balance at 5% per annum. 
(c) share of goodwill on the basis of twice the average of the past three year’s profits and
(d) share of profit from the closing of the last financial year to the date of death on the basis of the average of the three completed years’ profits before the death. Profit for 2002, 2003 and 2004 were respectively `12,000, `14,000 and `16,000. Profits were shared in the ratio of capitals. Prepare Z’s A/c to be rendered to his executors.

19. A and B are in equal partnership. Their balance sheet stood as follows:

	Liabilities 
	       `
	Assets 
	        ` 

	Capital A
	600
	Plant & Machinery 
	1,475

	Sundry creditors
	3,900
	Furniture 
	   400

	
	
	Debtors 
	500

	
	
	Stock 
	625

	
	
	Bank 
	300

	
	
	B’s capital 
	1,200

	Total 
	4,500
	Total 
	4,500


The assets were realized as follows: stock `350, Furniture `200, Debtors `.500 and Plant & Machinery `.700. The cost of collecting and distributing the estate is not sufficient even to pay his private liabilities, whereas in B’s private estate, there is a surplus of `50. Prepare Realisation A/c and Bank A/c.
SECTION-C    (2 ×  15 = 30 marks)   
Answers any TWO Questions
20. A Mumbai head office sent goods to Chennai branch at 25% profit over cost. From the following prepare the necessary ledger accounts in the books of head office under stock and debtors system.

	
	      `

	Opening stock of goods at branch at invoice price
	20,000

	Goods sent to branch at invoice price
	90,000

	Loss of goods in transit at invoice price
	6,000

	Pilferage at branch at the cost of branch
	1,200

	Closing stock at branch at its cost to branch
	16,000

	Sales at branch
	1,05,000

	Salaries and wages at branch
	6,000

	Other expenses at branch
	3,000



Chennai branch received `4,000 from the insurance company in settlement of the claim for the loss   


of goods in transit.

21. From the following prepare Departmental Trading and P&L A/c for the year ended 31st December, 2012.

	
	Dept. A
	Dept. B

	Stock(January)
	40,000
	 ------

	Purchase from outside
	2,00,000
	20,000

	Wages 
	10,000
	1,000

	Transfer of goods from Dept. A 
	 -------
	50,000

	Stock (Dec.31st) at cost to the department
	30,000
	10,000

	Sale to outsiders
	2,00,000
	71,000



B’s entire stock represents goods from Dept. A which transfers them at 25% above its cost.          


Administrative and selling expenses amounted to `15,000 which are to be allocated between 

departments A and B in the ratio of 4:1 respectively. 

22. Ramu purchased 4 machines of ` 14,000 each by the hire purchase system. The hire purchase price for all the 4 machines was `.60, 000 to be paid as `15,000 each at the end of each year. Depreciation is written off at 10% p.a. on the straight line method.


Down payment and first installments were paid. On the default, vendor took possession of three 

machines leaving one machine with the buyer. The machines were taken by the vendor at a 

depreciated value of 20% p.a. under WDV method. Vendor has spent `1,200 on repairs and sold 

three machines for `35,000. Give ledger account in the books of Ramu and Hire Vendor.

23. A and B are partners in a firm. They share profits and losses in the ratio of 3:1. Their balance sheet is as follows:

	Liabilities 
	      `
	Assets 
	     `

	Capital  A

               B
	80,000

40,000
	Buildings 
	1,00,000

	Reserve 
	40,000
	Plant 
	25,000

	Creditors 
	60,000
	Stock 
	40,000

	Bills payable
	20,000
	Debtors 
	70,000

	
	
	Cash 
	 5,000 

	Total 
	2,40,000
	Total 
	2,40,000



C is admitted into partnership for 1/5th share of the business on the following terms: 

(a)

building is revalued at `1,20,000. 

(b)
plant is depreciated to 80%

(c)
provision for bad debts is made at 5% 
       (d)






stock is revalued at  `30,000. 
       (e) 
C should introduce 50% of the adjusted capitals of both A and B. Do necessary ledger 


accounts and the new balance sheet after the admission of C.
————————
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